2022. 1. 11.(3}

<7% 394>

- HESZAISAF =528 H190N telE -

2 AICH 2| & 2] 22 Xl=

< YA|Cfe|He] AR >

O 20219 Sl4t7| 2|A|ZAM E0 Y 5019 A




- HEEAISAE ==X H190) THel& -

elAlCHoH =] 2l ANE

HI1901 THOlAR] A3HE

g2

oF qfoF A2- (Y3 #|17,18%

O HAEAlTA TR
Fa('21. 1. 26. / 3. 15. / 7. 13)

O thel3] A

HAAHS SR
O #E7]3F 1 '21.01.26. ~ ‘22.01.31. x™M20thciel el MESTAIA
O &HE @ 23 A20%(H2d3]e 7]%)

HA16Z HM2g(Ehe, AT - Y HE §)3 HMelF B39 J|s

O diefd+4

o

5 el H) of & H 1 | AZ(df A el ) o & Hl 1

of == gt a5 A
A4 (2

o 2 H HHMYEUE (4) Mg Al

M3 = H &
AIX[AH (2

ol x| s d 7| H

g ool § = ISl
AR =XIA Q) —

£ 53 AN

o & ¢l s 3¢
TAPZHEER (2) SHAAEH (8)

AR o & 2l

7T 485
AEAREX (2 -

of 2 g2t Aol
HMHEE (4) < M A of & %

2} A & 224

=}
o AEH Yol 2 Al |E(2021.05.18)0 M =2lE ZIE 7|ESE MY



I. AANUOALR] O

202149 OHED| ZD| QIHIZAKIE JHR

02[ZF:2021.7.1~2021.12. 31 (548 : &)
soluyo x| L4
I:||_|1
k-] o o = =
T 11,264 580 8 B F 0424 200
8gl 11,283,520 FEE2HH| 1472420
98 11,276,080 8 92f H| 3,365,899
Tl T s 1680190 , | o | # & 4,800,000
2 | w
o i 18 11,688,790 FEE A 12,105 510
o | a
128 11,654,330 x 2 d 240,000
T o | ap | =
A M{n) 68,847,500 AL | 467 920
214 &8s s £ %
} bl 19,269 2 = Absl 4,178,000
E} HI|HF a2 1,000,038 of H H
g %
2l
4+ HB) 1,019,307 S=H(A) 36,053,949
X702 316,000,000 57|08 + 316,000,000
=R : 7|42
e =t
e XpAl
2E02 29,147 201 HEWZ 62,960,059
A= H4{C) 345 147,201 E B A (B) 378,960 080
Z 4015 4 (A+B+C) 415,014,008 (o4 AtX| F5 4= BHA}AHA+B) 415,014,008

20219 Stety| HY| SAIPA MF 82 72l E1M EHZ

o2t



. JIE} H2AANE =9




